
R000718E Stage 2 spindle assembly

2nd stage of assembly of spindle assemblies

Introduction
Tools Required

0.05mm feeler gauge

Standard hex key set

Standard spanner set

Rule

6mm punch

Ball pien hammer

Parts Required

D0007990 cylinder anchor x 7

D0007648 end plate x 4

D0007649 Double slide end plate x 4

D0007686 single motor plate x 4

D0007723 Double slide motor mount x 4

D0007687 Motor mount x 4

D0007600 Cylinder anchor x 4

D0015856 hard stop x 4

Medium 4 hour(s) Dif/culty  Duration

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Mount single plunge spindle cylinder 2,4,6 and 8

Step 3 - Align components and set position

Step 4 - Check D0007649

Step 5 - Mount double plunge spindle cylinder 1,3,5 and 7

Step 6 - Align components and set position

Step 7 - Attach single plunge motor plate

Step 8 - Double plunge assembly motor mount

Step 9 - Mounting double plunge motor

Step 10 - Mount double plunge cylinder

Step 11 - Mount hard stops

Comments

Page 1 / 11



Step 1 - Unless otherwise stated
Use Loctite 243 on all fasteners

Pen mark bolts when /nalised

Step 2 - Mount single plunge spindle cylinder 2,4,6 and 8
Do not add /nal tension to bolts until alignment has been achieved

1 Attach pre built cylinder anchor to end of cylinder

2 Position pre built cylinder on slide base assembly as shown

3 Use 2 off m5 x 25 socket caps with A form washers to attach to slide base

4 Temporarily mount D0007648 with 1 off m6 x 20 socket cap

5 Attach D0007790 cylinder anchor with 4 off M6 x 20 socket caps

6 Attach Cylinder base to anchor with 4 off M6x 20 socket caps

Page 2 / 11

https://stuga.dokit.app/wiki/Fichier:R0000712E_Rotary_Trunking_Screenshot_2023-05-31_084239.png
https://stuga.dokit.app/images/thumb/6/65/Stage_2_spindle_assembly_Screenshot_49.png/ia-fb711de9fc387705a157fc942bc910be-1000px-Stage_2_spindle_assembly_Screenshot_49.png.png
https://stuga.dokit.app/images/thumb/c/c6/Stage_2_spindle_assembly_Screenshot_48.png/ia-c3da9ed10c1fef20b643e7159cc5317d-1000px-Stage_2_spindle_assembly_Screenshot_48.png.png
https://stuga.dokit.app/images/thumb/1/16/Stage_2_spindle_assembly_Screenshot_50.png/ia-c438e842b640c5c7c6fdd06c9edd83e1-1000px-Stage_2_spindle_assembly_Screenshot_50.png.png
https://stuga.dokit.app/images/thumb/d/d6/Stage_2_spindle_assembly_Screenshot_51.png/ia-cfd440df0ac016b533e51b3c95e54c44-1000px-Stage_2_spindle_assembly_Screenshot_51.png.png


Step 3 - Align components and set position
1 Use cylinder stroke adjustment to align these two faces

2 Apply Loctite 243 to cylinder nut and tighten

3 Use clearance in holes for mounting at points indicated to achieve cylinder alignment. Cylinder stroke should be even and free along entire

stroke

4 Finalise bolts

Repeat on all four single spindles (2,4,6 and 8)

Page 3 / 11

https://stuga.dokit.app/images/thumb/d/d6/Stage_2_spindle_assembly_Screenshot_51.png/ia-d5841cb6a0c93b59f18eb7cde4ff4859-1000px-Stage_2_spindle_assembly_Screenshot_51.png.png
https://stuga.dokit.app/images/thumb/6/61/Stage_2_spindle_assembly_Screenshot_52.png/ia-9f356b62372895a304c10d3f00c28b6d-1000px-Stage_2_spindle_assembly_Screenshot_52.png.png
https://stuga.dokit.app/images/thumb/7/7a/Stage_2_spindle_assembly_Screenshot_53.png/ia-30395a3f15d6572e63111429f349c007-1000px-Stage_2_spindle_assembly_Screenshot_53.png.png
https://stuga.dokit.app/images/thumb/c/cb/R000718E_Stage_2_spindle_assembly_Screenshot_2023-12-11_143622.png/ia-de0d261a43c3013e4655fdce167283b1-1000px-R000718E_Stage_2_spindle_assembly_Screenshot_2023-12-11_143622.png.png


Step 4 - Check D0007649
Check that component D0007649 has been manufactured correctly

Indicated hole should be tapped M6. Rework and report if not To M6

tapped spec

Page 4 / 11

https://stuga.dokit.app/images/thumb/8/88/R000718E_Stage_2_spindle_assembly_Screenshot_2024-03-20_112048.png/ia-3d909f13c93f2d1b815e96489059d812-1000px-R000718E_Stage_2_spindle_assembly_Screenshot_2024-03-20_112048.png.png


Step 5 - Mount double plunge spindle cylinder 1,3,5 and 7
Do not add /nal tension to bolts until alignment has been achieved

1 Attach pre built cylinder anchor to end of cylinder

2 Position pre built cylinder on slide base assembly as shown

3 Use 2 off m5 x 25 socket caps with A form washers to attach to slide base

4 Temporarily mount D0007649 with 1 off m6 x 20 socket cap

5 Attach D0007790 cylinder anchor with 4 off M6 x 20 socket caps

6 Attach Cylinder base to anchor with 4 off M6x 20 socket caps

Page 5 / 11

https://stuga.dokit.app/images/thumb/4/40/Stage_2_spindle_assembly_Screenshot_54.png/ia-ce751a6b4d836797a747dcff086b16ea-1000px-Stage_2_spindle_assembly_Screenshot_54.png.png
https://stuga.dokit.app/images/thumb/c/c4/Stage_2_spindle_assembly_Screenshot_55.png/ia-01334539198970e46a2438f6b3de2650-1000px-Stage_2_spindle_assembly_Screenshot_55.png.png
https://stuga.dokit.app/images/thumb/6/61/Stage_2_spindle_assembly_Screenshot_52.png/ia-0802db5ada324155d91e842209ca2a50-1000px-Stage_2_spindle_assembly_Screenshot_52.png.png
https://stuga.dokit.app/images/thumb/2/26/Stage_2_spindle_assembly_Screenshot_57.png/ia-11bd92a2df4434fc906ed9d480b7cd70-1000px-Stage_2_spindle_assembly_Screenshot_57.png.png


Step 6 - Align components and set position
1 Use cylinder stroke adjustment to align these two faces

2 Apply Loctite 243 to cylinder nut and tighten

3 Use clearance in holes for mounting at points indicated to achieve cylinder alignment. Cylinder stroke should be even and free along entire

stroke

4 Finalise bolts

Repeat on all four single spindles (1,3,5 and 7))

Step 7 - Attach single plunge motor plate
4 off

1 Attach D0007686 motor plate to elte motor using 4 off m6 x 12 socket caps and 2 off 6mmx 20 dowels

2 Attach to single spindle using 4 off m6 x 16 socket caps

Ensure that motor plate butts up to indicated parts and also register is aligned as shown

3 use 5 off m6 x 20 socket caps used to /nalise end plate . ensure mounting is even to motor plate

Page 6 / 11

https://stuga.dokit.app/images/thumb/2/26/Stage_2_spindle_assembly_Screenshot_57.png/ia-328fd981e6871e780bd29777afb04706-1000px-Stage_2_spindle_assembly_Screenshot_57.png.png
https://stuga.dokit.app/images/thumb/1/16/Stage_2_spindle_assembly_Screenshot_50.png/ia-78abbf0311135715765c6788b7759149-1000px-Stage_2_spindle_assembly_Screenshot_50.png.png
https://stuga.dokit.app/images/thumb/3/3f/Stage_2_spindle_assembly_Screenshot_58.png/ia-902ae719d1e89c5e3bcb3c76ee5b0109-1000px-Stage_2_spindle_assembly_Screenshot_58.png.png


Page 7 / 11

https://stuga.dokit.app/images/thumb/7/79/Stage_2_spindle_assembly_Screenshot_59.png/ia-6dd8032480e2a8bc231a4053dd73eaa3-1000px-Stage_2_spindle_assembly_Screenshot_59.png.png
https://stuga.dokit.app/images/thumb/3/36/Stage_2_spindle_assembly_Screenshot_60.png/ia-861b81d8516e31ccf09b0f9aa19fc1d0-1000px-Stage_2_spindle_assembly_Screenshot_60.png.png
https://stuga.dokit.app/images/thumb/e/ea/Stage_2_spindle_assembly_Screenshot_61.png/ia-b84446bcce216be4fb85a5a530675e02-1000px-Stage_2_spindle_assembly_Screenshot_61.png.png
https://stuga.dokit.app/images/thumb/5/58/Stage_2_spindle_assembly_Screenshot_62.png/ia-f1776810a854c115c6a2b1a186f3bc90-1000px-Stage_2_spindle_assembly_Screenshot_62.png.png
https://stuga.dokit.app/images/thumb/5/58/Stage_2_spindle_assembly_Screenshot_62.png/ia-f8b20cb82f647a2450c0b131ee8efe9a-1000px-Stage_2_spindle_assembly_Screenshot_62.png.png


Step 8 - Double plunge assembly motor mount
4 off

1 Lightly Fix D0007723 motor mount to bearings as shown . Use 8 off M6 x 12 socket caps to /x.

2 Use 0.05mm feeler gauge to check datum faces are in contact, if not remove and inspect parts

3 Finalise bolts



Step 9 - Mounting double plunge motor

...For machine accuracy it is vital the indicated faces butt together. Check with 0.002" feeler gauge to ensure contact

4 off

1 Mount D0007687 motor plate to elte motor with 4 off M6 x 12 socket caps and 2 off 6mm x 20 dowels

2 Use 3 off M6 x 30 socket caps and mount elte motor as shown

Page 8 / 11

https://stuga.dokit.app/images/thumb/7/74/Stage_2_spindle_assembly_Screenshot_47.png/ia-538553d3fb9030df6242a702970fc588-1000px-Stage_2_spindle_assembly_Screenshot_47.png.png
https://stuga.dokit.app/images/thumb/0/07/Stage_2_spindle_assembly_Screenshot_64.png/ia-8774c31d54605fa582f5fc10bea95f4e-1000px-Stage_2_spindle_assembly_Screenshot_64.png.png
https://stuga.dokit.app/images/thumb/5/54/Stage_2_spindle_assembly_Screenshot_65.png/ia-5b7b7f68a797d200bf833e9a0e584f66-1000px-Stage_2_spindle_assembly_Screenshot_65.png.png
https://stuga.dokit.app/images/thumb/4/45/Stage_2_spindle_assembly_Screenshot_66.png/ia-e81aeeff7c3d765ce22e10b9f36e055f-1000px-Stage_2_spindle_assembly_Screenshot_66.png.png


Step 10 - Mount double plunge cylinder
4 off

1 Attach D0007600 cylinder mount using 2 off M5 x 20 socket caps

2 Attach lighty pre built cylinder assembly using 4 off M6 x 20 socket caps

3 Attach cylinder thread and adjust stroke of cylinder to achieve measurement of 28mm

4 Adhesive and lock off cylinder nut

5 Use clearance in indicated holes to achieve correct cylinder alignment . Stroke of cylinder should be free and consistent

6 Finalise all bolts

Page 9 / 11

https://stuga.dokit.app/images/thumb/4/47/Stage_2_spindle_assembly_Screenshot_67.png/ia-5e2588ddbd0786cbb93df73976ed52ba-1000px-Stage_2_spindle_assembly_Screenshot_67.png.png
https://stuga.dokit.app/images/thumb/1/1c/Stage_2_spindle_assembly_Screenshot_68.png/ia-105a90f822780cc08845784e66dfadb7-1000px-Stage_2_spindle_assembly_Screenshot_68.png.png
https://stuga.dokit.app/images/thumb/1/14/Stage_2_spindle_assembly_Screenshot_69.png/ia-0bf8bfa935be9637a31e84883c8a8135-1000px-Stage_2_spindle_assembly_Screenshot_69.png.png


Page 10 / 11

https://stuga.dokit.app/images/thumb/e/e4/Stage_2_spindle_assembly_Screenshot_70.png/ia-25a97c967ee08ec90df6aa67e91fe331-1000px-Stage_2_spindle_assembly_Screenshot_70.png.png
https://stuga.dokit.app/images/thumb/a/a6/Stage_2_spindle_assembly_Screenshot_71.png/ia-c663f732e0c82fa414842c2bacedf43c-1000px-Stage_2_spindle_assembly_Screenshot_71.png.png


Step 11 - Mount hard stops
1 Use M5 x 16 socket caps to mount 4 off D00015856 hard stops to double plunge assemblies

2 Use 8 off m4x 12 socket caps and /x to all slide bases as a hard stop

Page 11 / 11

https://stuga.dokit.app/images/thumb/c/ce/Stage_2_spindle_assembly_Screenshot_72.png/ia-224fe3f52c2ac05a6b3fd76279247b77-1000px-Stage_2_spindle_assembly_Screenshot_72.png.png
https://stuga.dokit.app/images/thumb/1/1e/Stage_2_spindle_assembly_Screenshot_73.png/ia-6f6e1fc28ae15a154f1cc62354da5621-1000px-Stage_2_spindle_assembly_Screenshot_73.png.png
https://stuga.dokit.app/images/thumb/7/7a/Stage_2_spindle_assembly_Screenshot_74.png/ia-64111ee0c33b3501e5cfcf21362afd21-1000px-Stage_2_spindle_assembly_Screenshot_74.png.png

	R000718E Stage 2 spindle assembly
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Mount single plunge spindle cylinder 2,4,6 and 8
	Step 3 - Align components and set position
	Step 4 - Check D0007649
	Step 5 - Mount double plunge spindle cylinder 1,3,5 and 7
	Step 6 - Align components and set position
	Step 7 - Attach single plunge motor plate
	Step 8 - Double plunge assembly motor mount
	Step 9 - Mounting double plunge motor
	Step 10 - Mount double plunge cylinder
	Step 11 - Mount hard stops


